
Revision C    12/7/07 

 
 

 
 
PART LIST 
 

6 M10*40 Hex Head Bolt, Stainless Steel 
12 M10 Flat Washer, Stainless Steel 
6 M10 Hex Nut, Stainless Steel 
6 M10 Lock Washer, Stainless Steel 
4 M12*40 Hex Head Bolt, Yellow Zinc 
8 M12 Flat Washer, Yellow Zinc 
4 M12 Hex Nut, Yellow Zinc 
4 M12 Lock Washer, Yellow Zinc 

 
Note: Westin Automotive advises the installer to use a thread lubricant on all of the stainless steel 
fasteners.             
 
Please take care when assembling and installing this product to protect the finish and 
your investment. To protect your investment, wax this product after installing. Regular 
waxing is recommended. Do not use any type of polish or wax that contains abrasive that 
could damage the finish. 

PROCEDURE 
 
Step One: Remove contents from box and verify all parts are present.  Read instructions 
completely before beginning. 
 
Note: Some vehicles are equipped with an air dam attached to the bottom of the bumper. 
Some have a section removed for the tow hooks to fit through and others are solid. If the 
vehicle being worked on is equipped with a solid air dam, then it may be necessary to 
remove it from the bumper in order to install the guard. You may retain the air dam by 
removing two small sections from it to enable the lower portion of the guard to fit 
through and attach to the lower support brackets that will be mounted to the bottom of the 
frame.             
 
Step Two: If the vehicle came with factory tow hooks they must be removed. Orient the 
mounting brackets as per the illustration and attach them to the vehicle with the M12 
hardware supplied. Do not fully tighten hardware at this time. 
 
Step Three: Position the Grille Guard to the outside of the two lower support brackets. 
Using the M10 hardware, secure the Grille Guard to the support brackets. Fully tighten 
all hardware.  
 
 
 
 

INSTALLATION INSTRUCTIONS 
1988-98 Chevy/GMC-C/K Series 1500/2500LD 
1988-00 Chevy/GMC-C/K Series 2500HD/3500 

1992-99 Chevy Suburban/GMC Yukon (Excl. Denali) 
1992-94 Chevy Blazer/GMC Jimmy (Full Size) 

1995-99 Chevy Tahoe 
Part # 45-0080, 40-0085 



Revision C    12/7/07 

 
 

Figure 1 
 
 

Figure 2 
 
 
 
           

                                   
 

                                                                                         


